



On certain integrals involving (p, k) -Mittag-Leffler function

Gurmej Singh and Mehar Chand*

ABSTRACT: In the present paper, we establish certain integral formulae involving a new generalization of Mittag-Leffler function ${}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z)$, which are expressed in terms of generalized Wright function and hypergeometric function. Further some interesting special cases of our main findings are also developed.

Key Words: (p, k) -Pochhammer symbol, (p, k) -Mittag-Leffler function, Integral Transform.

Contents

1 Introduction and Preliminaries	1
2 Mittag-Leffler function and its generalizations	3
3 Main Results	5
3.1 Special Cases	6
4 Conclusion	10

1. Introduction and Preliminaries

In recent years, many authors have developed and studied numerous integral formulas involving a variety of special functions (see [1,2,3,4,5,6,11,12,28]). These integrals play an important role while dealing with several real world problems especially in mathematical physics. Here we present some integral formulas involving generalized Mittag-Leffler function ${}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z)$. Some interesting special cases of our main results are also considered.

The Gauss hypergeometric function is defined as (see [20])

Definition 1.1 Let $|z| < 1$, $z, \delta_1, \delta_2 \in \mathbb{C}$, $\delta_3 \in \mathbb{C} \setminus \mathbb{Z}_0^-$, then

$${}_2F_1(\delta_1, \delta_2; \delta_3; z) = \sum_{n=0}^{\infty} \frac{(\delta_1)_n (\delta_2)_n}{(\delta_3)_n} \frac{z^n}{n!}, \quad (1.1)$$

where $(\delta_1)_n$ is familiar Pochhammer symbol (see [25]).

The series ${}_2F_1(\delta_1, \delta_2; \delta_3; z)$ is convergent in the following cases:

1. for $|z| < 1$; the series converges absolutely.
2. for $|z| = 1$; the series converges absolutely for $\Re(\delta_3 - \delta_1 - \delta_2) > 0$.
3. for $|z| = 1$ ($z \neq 1$); the series converges conditionally for $-1 < \Re(\delta_3 - \delta_1 - \delta_2) \leq 0$.

A more generalized form of the hypergeometric function is ${}_rF_s$, defined as (see [20,14]):

* Corresponding author

Definition 1.2 Let $\delta_1, \dots, \delta_r \in \mathbb{C}; \omega_1, \dots, \omega_s \in \mathbb{C} \setminus \mathbb{Z}_0^-$, then

$${}_rF_s \left[\begin{matrix} \delta_1, \dots, \delta_r; \\ \omega_1, \dots, \omega_s; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\delta_1)_n \dots (\delta_r)_n}{(\omega_1)_n \dots (\omega_s)_n} \frac{z^n}{n!}. \quad (1.2)$$

The series ${}_rF_s(\cdot)$ is convergent in the following cases (see [20]):

1. Converges absolutely $\forall z \in \mathbb{C}$, if $r \leq s$.
2. (a) Converges absolutely for $|z| < 1$ and $r = s + 1$.
(b) Diverges for $|z| > 1$ and $r = s + 1$.
3. Diverges for $z \neq 0$, if $r > s + 1$.
4. Absolutely convergent for $|z| = 1$, when $r = s + 1$ and

$$\Re \left[\sum_{j=1}^s \omega_j - \sum_{i=1}^r \delta_i \right] > 0.$$

5. Conditionally convergent for $|z| = 1$ ($z \neq 1$), if $r = s + 1$ and when

$$-1 < \Re \left[\sum_{j=1}^s \omega_j - \sum_{i=1}^r \delta_i \right] \leq 0.$$

where $(\delta)_n$ is the Pochhammer symbol defined by (see [25])

$$\begin{aligned} (\delta)_n &= \begin{cases} 1 & (n = 0; \delta \in \mathbb{C} \setminus \{0\}) \\ \delta(\delta+1)(\delta+2)\dots(\delta+n-1) & (n \in \mathbb{N}; \delta \in \mathbb{C}) \end{cases} \\ &= \frac{\Gamma(\delta+n)}{\Gamma(\delta)} & (n \in \mathbb{N}; \delta \in \mathbb{C} \setminus \mathbb{Z}_0^-) \end{aligned} \quad (1.3)$$

and $\Gamma(\delta)$ is the familiar Gamma function.

The Pochhammer k -symbol due to Diaz and Pariguan [7] is defined as

Definition 1.3 Let $\delta \in \mathbb{C}, k \in \mathbb{R}$ and $n \in \mathbb{N}$, then the Pochhammer k -symbol is defined as: (Diaz and Pariguan [7])

$$(\delta)_{n,k} = \delta(\delta+k)(\delta+2k)\dots(\delta+(n-1)k). \quad (1.4)$$

and k -Gamma function is defined as

Definition 1.4 For $\delta \in \mathbb{C}; \Re(\delta) > 0; k \in \mathbb{R}^+$, the k -gamma function is defined by [7]:

$$\Gamma_k(\delta) = \int_0^\infty t^{\delta-1} e^{-\frac{t^k}{k}} dt. \quad (1.5)$$

Proposition 1.1 The k -gamma function and Pochhammer k -symbol are related as (see [7]):

For $n \in \mathbb{N}; k \in \mathbb{R}^+$

$$(\delta)_{n,k} = \begin{cases} \frac{\Gamma_k(\delta+nk)}{\Gamma_k(\delta)} & (\delta \in \mathbb{C} \setminus \{0\}) \\ \delta(\delta+k)\dots(\delta+(n-1)k), & (\delta \in \mathbb{C}). \end{cases} \quad (1.6)$$

For $\delta \in \mathbb{C}, \Re(\delta) > 0; k \in \mathbb{R}^+$

$$\Gamma_k(\delta) = k^{\frac{\delta}{k}-1} \Gamma\left(\frac{\delta}{k}\right). \quad (1.7)$$

Recently, Gehlot [9] introduced a new modification of the k -Gamma function ${}_p\Gamma_k(\delta)$ and is defined as

Definition 1.5 For $\delta \in \mathbb{C} \setminus k\mathbb{Z}^-; k, p \in \mathbb{R}^+ \setminus 0$ and $\Re(\delta) > 0$, the (p, k) Gamma function ${}_p\Gamma_k(\delta)$ is given as

$${}_p\Gamma_k(\delta) = \int_0^\infty e^{-\frac{t^k}{p}} t^{\delta-1} dt. \quad (1.8)$$

Also, he has defined the (p, k) -Pochhammer symbol ${}_p(\delta)_{n,k}$ which is given by (see [9])

Definition 1.6 For $\delta \in \mathbb{C}; k, p \in \mathbb{R}^+ \setminus 0$ and $\Re(\delta) > 0, n \in \mathbb{N}$, the (p, k) -Pochhammer Symbol ${}_p(\delta)_{n,k}$ is given as

$$\begin{aligned} {}_p(\delta)_{n,k} &= \left(\frac{\delta p}{k}\right) \cdot \left(\frac{\delta p}{k} + p\right) \cdot \left(\frac{\delta p}{k} + 2p\right) \cdots \left(\frac{\delta p}{k} + (n-1)p\right) \\ &= \frac{{}_p\Gamma_k(\delta + nk)}{{}_p\Gamma_k(\delta)}. \end{aligned} \quad (1.9)$$

The following properties hold true for the (p, k) -Gamma function and (p, k) -Pochhammer symbol given as [9]:

Proposition 1.2 For $x \in \mathbb{C} \setminus k\mathbb{Z}^-; k, p \in \mathbb{R}^+$ and $\Re(x) > 0, n, q \in \mathbb{N}$, then the following formulas hold true:

$${}_p(\Gamma)_k(x) = \left(\frac{p}{k}\right)^{\frac{x}{k}} \Gamma_k(x) = \frac{p^{\frac{x}{k}}}{k} \Gamma\left(\frac{x}{k}\right). \quad (1.10)$$

$${}_p(x)_{nq,k} = \left(\frac{p}{k}\right)^{nq} (x)_{nq,k} = p^{nq} \left(\frac{x}{k}\right)_{nq}. \quad (1.11)$$

$${}_p(x)_{nq,k} = pq^{nq} \prod_{r=1}^q \left(\frac{\frac{x}{k} + r - 1}{q}\right)_n. \quad (1.12)$$

2. Mittag-Leffler function and its generalizations

The Swedish mathematician G. Mittag-Leffler [17] introduced the function $E_\lambda(z)$, is defined in series form as:

$$E_\lambda(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\lambda n + 1)}, \quad z \in \mathbb{C}; \lambda \geq 0. \quad (2.1)$$

The two parameter Mittag-Leffler function $E_{\lambda,\nu}(z)$ [17] studied by Wiman [29], is defined as:

$$E_{\lambda,\nu}(z) = \sum_{n=0}^{\infty} \frac{z^n}{\Gamma(\lambda n + \nu)}, \quad \lambda, \mu \in \mathbb{C}; \Re(\lambda) > 0, \Re(\nu) > 0. \quad (2.2)$$

In [19](see also [13]), Prabhakar studied the function $E_{\lambda,\nu}^\gamma(z)$, is defined as:

$$E_{\lambda,\nu}^\gamma(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\lambda n + \nu)} \frac{z^n}{n!}, \quad (2.3)$$

$$\lambda, \mu, \gamma \in \mathbb{C}; \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0.$$

In [24], Shukla and Prajapati studied the function $E_{\lambda,\nu}^{\gamma,\eta}(z)$, is defined as (see also [27]):

$$E_{\lambda,\nu}^{\gamma,\eta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{\eta n}}{\Gamma(\lambda n + \nu)} \frac{z^n}{n!}, \quad (2.4)$$

$$\lambda, \nu, \gamma \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0 \text{ and } \eta \in (0, 1) \cup \mathbb{N},$$

$$\text{where } (\gamma)_{\eta n} = \frac{\Gamma(\gamma + \eta n)}{\Gamma(\gamma)}.$$

Salim [21] introduced a new generalization of Mittag-Leffler function $E_{\lambda,\nu}^{\gamma,\delta}(z)$ and is defined as:

$$E_{\lambda,\nu}^{\gamma,\delta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_n}{\Gamma(\lambda n + \nu)} \frac{z^n}{(\delta)_n}, \quad (2.5)$$

$$\lambda, \nu, \gamma, \delta \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0, \Re(\delta) > 0.$$

Further, Salim and Faraj [22] introduced the following more generalized Mittag-Leffler function $E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z)$ defined as:

$$E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{\eta n}}{\Gamma(\lambda n + \nu)} \frac{z^n}{(\delta)_{\tau n}}, \quad (2.6)$$

$$\lambda, \nu, \gamma, \delta \in \mathbb{C}, \min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0, \tau, \eta \in \mathbb{R}^+, \eta < \Re(\lambda) + \tau.$$

Further, the following more generalized Mittag-Leffler function $E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z)$ is introduced by Gupta and Parihar [10] defined as:

$$E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z) = \sum_{n=0}^{\infty} \frac{(\gamma)_{\eta n,k}}{\Gamma_k(\lambda n + \nu)} \frac{z^n}{(\delta)_{\tau n,k}}, \quad (2.7)$$

$$\lambda, \nu, \gamma, \delta \in \mathbb{C}, \min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0, k, \tau, \eta \in \mathbb{R}^+, \eta < \Re(\lambda) + \tau.$$

Here we introduce a new generalization of Mittag-Leffler function defined as:

$${}_p E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z) = \sum_{n=0}^{\infty} \frac{{}_p(\gamma)_{\eta n,k}}{{}_p\Gamma_k(\lambda n + \nu)} \frac{z^n}{({}_p\delta)_{\tau n,k}}, \quad (2.8)$$

$$\lambda, \nu, \gamma, \delta \in \mathbb{C}, \min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0, p, k, \tau, \eta \in \mathbb{R}^+, \eta < \frac{\Re(\lambda)}{k} + \tau.$$

where ${}_p(\gamma)_{\eta n,k}$ is the (p, k) -Pochhammer symbol defined in equation (1.9).

The generalized hypergeometric series ${}_pF_q$ (see e.g., [15]) due to Fox [8] and Wright [30,31,32] known as the Fox-Wright function ${}_p\Psi_q(z)$ ($p, q \in \mathbb{N}_0$) with p numerator and q denominator parameters defined for $a_1, \dots, a_p \in \mathbb{C}$ and $b_1, \dots, b_q \in \mathbb{C} \setminus \mathbb{Z}_0^-$ by (For details see [14,16,23,26])

$${}_p\Psi_q \left[\begin{matrix} (a_1, \alpha_1), \dots, (a_p, \alpha_p); \\ (b_1, \beta_1), \dots, (b_q, \beta_q); \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{\Gamma(a_1 + \alpha_1 n) \dots \Gamma(a_p + \alpha_p n)}{\Gamma(b_1 + \beta_1 n) \dots \Gamma(b_q + \beta_q n)} \frac{z^n}{n!}, \quad (2.9)$$

where the coefficients $\alpha_1, \dots, \alpha_p, \beta_1, \dots, \beta_q \in \mathbb{R}^+$ are such that

$$1 + \sum_{j=1}^q \beta_j - \sum_{i=1}^p \alpha_i \geq 0. \quad (2.10)$$

For $\alpha_i = \beta_j = 1$ ($i = 1, \dots, p; j = 1, \dots, q$), equation (2.9) reduces immediately to the generalized hypergeometric function ${}_pF_q$ ($p, q \in \mathbb{N}_0$) (see [26]):

$${}_pF_q \left[\begin{matrix} a_1, \dots, a_p; \\ b_1, \dots, b_q; \end{matrix} z \right] = \frac{\Gamma(b_1) \dots \Gamma(b_q)}{\Gamma(a_1) \dots \Gamma(a_p)} {}_p\Psi_q \left[\begin{matrix} (a_1, 1), \dots, (a_p, 1); \\ (b_1, 1), \dots, (b_q, 1); \end{matrix} z \right]. \quad (2.11)$$

For our present study we also require the following Oberhettinger's integral formula [18]

$$\int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} dx = 2\zeta a^{-\zeta} \left(\frac{a}{2}\right)^\xi \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(1+\zeta+\xi)}, \quad (2.12)$$

provided $0 < \Re(\xi) < \Re(\zeta)$.

The well known Legendre duplication formula (see [25]) is defined as:

$$(\delta)_{2n} = 2^{2n} \left(\frac{\delta}{2}\right)_n \left(\frac{\delta+1}{2}\right)_n \quad (n \in \mathbb{N}_0) \quad (2.13)$$

3. Main Results

Theorem 3.1 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $p, k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} {}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{k\Gamma\left(\frac{\delta}{k}\right)\Gamma(2\xi)}{p^{\frac{\nu}{k}}\Gamma\left(\frac{\gamma}{k}\right)} {}_4\Psi_4 \left[\begin{matrix} \left(\frac{\gamma}{k}, \eta\right), \left(\zeta-\xi, 1\right), (1+\zeta, 1), (1, 1); \\ \left(\frac{\nu}{k}, \frac{\lambda}{k}\right), \left(\frac{\delta}{k}, \tau\right), (1+\zeta+\xi, 1), (\zeta, 1); \end{matrix} \quad \frac{zp^{\eta-\tau-\frac{\lambda}{k}}}{a} \right]. \end{aligned} \quad (3.1)$$

Proof: Denote left hand side of equation (3.1) by $\mathcal{I}$, then interchanging order of integration and summation and using equation (2.8), we have

$$\mathcal{I} = \sum_{n=0}^\infty \frac{p(\gamma)_{\eta n, k} z^n}{p\Gamma_k(\lambda n + \nu) p(\delta)_{\tau n, k}} \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-(\zeta+n)} dx, \quad (3.2)$$

evaluating the above integral in view of equation (2.12) and after little simplification, we get

$$\mathcal{I} = 2^{1-\xi} a^{\xi-\zeta} \frac{k\Gamma\left(\frac{\delta}{k}\right)\Gamma(2\xi)}{p^{\frac{\nu}{k}}\Gamma\left(\frac{\gamma}{k}\right)} \sum_{n=0}^\infty \frac{\Gamma\left(\frac{\gamma}{k} + \eta n\right)\Gamma(\zeta-\xi+n)\Gamma(1+\zeta+n)\Gamma(1+n)}{\Gamma\left(\frac{\nu}{k} + \frac{\lambda n}{k}\right)\Gamma\left(\frac{\delta}{k} + \tau n\right)\Gamma(1+\zeta+\xi+n)\Gamma(\zeta+n)} \left(\frac{zp^{\eta-\tau-\frac{\lambda}{k}}}{a}\right)^n \frac{1}{n!}, \quad (3.3)$$

in view of equation (2.9), we get the required result (3.1). $\square$

Theorem 3.2 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $p, k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} {}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{k\Gamma\left(\frac{\delta}{k}\right)\Gamma(\zeta-\xi)}{p^{\frac{\nu}{k}}\Gamma\left(\frac{\gamma}{k}\right)} {}_4\Psi_4 \left[\begin{matrix} \left(\frac{\gamma}{k}, \eta\right), (2\xi, 2), (1+\zeta, 1), (1, 1); \\ \left(\frac{\nu}{k}, \frac{\lambda}{k}\right), \left(\frac{\delta}{k}, \tau\right), (1+\zeta+\xi, 2), (\zeta, 1); \end{matrix} \quad \frac{zp^{\eta-\tau-\frac{\lambda}{k}}}{2} \right]. \end{aligned} \quad (3.4)$$

Proof: The proof of Theorem 3.2 is similar to that of Theorem 3.1, so we omit the details. $\square$

Theorem 3.3 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $p, k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} {}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{{}_p\Gamma_k(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} \\
&\quad \times {}_{\eta+3}F_{\frac{\lambda}{k}+\tau+2} \left[\begin{matrix} \Delta\left(\eta; \frac{\gamma}{k}\right), & \zeta-\xi, & 1+\zeta, & 1; \\ \Delta\left(\frac{\lambda}{k}; \frac{\nu}{k}\right), & \Delta\left(\tau; \frac{\delta}{k}\right), & 1+\zeta+\xi, & \zeta; \end{matrix} \quad \frac{zp^{\eta-\tau-\frac{\lambda}{k}}\eta^\eta k^{\frac{\lambda}{k}}}{a\tau^\tau \lambda^{\frac{\lambda}{k}}} \right].
\end{aligned} \tag{3.5}$$

Proof: By using equation (2.8), (1.10), (1.11), (1.12) and in view of equation (2.12) and (2.13) we get the required result (3.5). $\square$

Theorem 3.4 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $p, k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} {}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{{}_p\Gamma_k(\nu)\Gamma(1+\zeta+\xi)} \\
&\quad \times {}_{\eta+4}F_{\frac{\lambda}{k}+\tau+3} \left[\begin{matrix} \Delta\left(\eta; \frac{\gamma}{k}\right), & 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; \\ \Delta\left(\frac{\lambda}{k}; \frac{\nu}{k}\right), & \Delta\left(\tau; \frac{\delta}{k}\right), & \zeta, & \frac{1+\zeta+\xi}{2}, & \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{zp^{\eta-\tau-\frac{\lambda}{k}}\eta^\eta k^{\frac{\lambda}{k}}}{2\tau^\tau \lambda^{\frac{\lambda}{k}}} \right].
\end{aligned} \tag{3.6}$$

where $\Delta(q; \alpha)$ is q -tuple $\frac{\alpha}{q}, \frac{\alpha+1}{q}, \frac{\alpha+2}{q}, \dots, \frac{\alpha+q-1}{q}$.

Proof: By using equation (2.8), (1.10), (1.11), (1.12) and in view of equation (2.12) and (2.13) we get the required result (3.6). $\square$

3.1. Special Cases

On setting $p = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.1 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{k\Gamma\left(\frac{\delta}{k}\right)\Gamma(2\xi)}{\Gamma\left(\frac{\gamma}{k}\right)} {}_4\Psi_4 \left[\begin{matrix} \left(\frac{\gamma}{k}, \eta\right), & (\zeta-\xi, 1), & (1+\zeta, 1), & (1, 1); \\ \left(\frac{\nu}{k}, \frac{\lambda}{k}\right), & \left(\frac{\delta}{k}, \tau\right), & (1+\zeta+\xi, 1), & (\zeta, 1); \end{matrix} \quad \frac{z}{a} \right].
\end{aligned} \tag{3.7}$$

Corollary 3.2 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{k\Gamma\left(\frac{\delta}{k}\right)\Gamma(\zeta-\xi)}{\Gamma\left(\frac{\gamma}{k}\right)} {}_4\Psi_4 \left[\begin{matrix} \left(\frac{\gamma}{k}, \eta\right), & (2\xi, 2), & (1+\zeta, 1), & (1, 1); \\ \left(\frac{\nu}{k}, \frac{\lambda}{k}\right), & \left(\frac{\delta}{k}, \tau\right), & (1+\zeta+\xi, 2), & (\zeta, 1); \end{matrix} \quad \frac{z}{2} \right].
\end{aligned} \tag{3.8}$$

Corollary 3.3 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma_k(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} \\
&\quad \times {}_{\eta+3}F_{\frac{\lambda}{k}+\tau+2} \left[\begin{matrix} \Delta(\eta; \frac{\gamma}{k}), & \zeta-\xi, & 1+\zeta, & 1; & \frac{z\eta^\eta k^{\frac{\lambda}{k}}}{a\tau^\tau \lambda^{\frac{\lambda}{k}}} \end{matrix} \right].
\end{aligned} \tag{3.9}$$

Corollary 3.4 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $k, \tau, \eta \in \mathbb{R}^+$, $\eta < \frac{\Re(\lambda)}{k} + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma_k(\nu)\Gamma(1+\zeta+\xi)} \\
&\quad \times {}_{\eta+4}F_{\frac{\lambda}{k}+\tau+3} \left[\begin{matrix} \Delta(\eta; \frac{\gamma}{k}), & 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; & \frac{z\eta^\eta k^{\frac{\lambda}{k}}}{2\tau^\tau \lambda^{\frac{\lambda}{k}}} \end{matrix} \right].
\end{aligned} \tag{3.10}$$

On setting $p = k = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.5 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $\tau, \eta \in \mathbb{R}^+$, $\eta < \Re(\lambda) + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(\delta)\Gamma(2\xi)}{\Gamma(\gamma)} {}_4\Psi_4 \left[\begin{matrix} (\gamma, \eta), & (\zeta-\xi, 1), & (1+\zeta, 1), & (1, 1); & \frac{z}{a} \end{matrix} \right].
\end{aligned} \tag{3.11}$$

Corollary 3.6 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $\tau, \eta \in \mathbb{R}^+$, $\eta < \Re(\lambda) + \tau$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(\delta)\Gamma(\zeta-\xi)}{\Gamma(\gamma)} {}_4\Psi_4 \left[\begin{matrix} (\gamma, \eta), & (2\xi, 2), & (1+\zeta, 1), & (1, 1); & \frac{z}{2} \end{matrix} \right].
\end{aligned} \tag{3.12}$$

Corollary 3.7 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $\tau, \eta \in \mathbb{R}^+$, $\eta < \Re(\lambda) + \tau$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} \\
&\quad \times {}_{\eta+3}F_{\lambda+\tau+2} \left[\begin{matrix} \Delta(\eta; \gamma), & \zeta-\xi, & 1+\zeta, & 1; & \frac{z\eta^\eta}{a\tau^\tau \lambda^\lambda} \end{matrix} \right].
\end{aligned} \tag{3.13}$$

Corollary 3.8 Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\min\{\Re(\lambda), \Re(\nu), \Re(\gamma), \Re(\delta)\} > 0$, $\tau, \eta \in \mathbb{R}^+$, $\eta < \Re(\lambda) + \tau$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu,\tau}^{\gamma,\delta,\eta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)} \\
&\quad \times {}_{\eta+4}F_{\lambda+\tau+3} \left[\begin{matrix} \Delta(\eta;\gamma), & 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; \\ \Delta(\lambda;\nu), & \Delta(\tau;\delta), & \zeta, & \frac{1+\zeta+\xi}{2}, & \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{z\eta^\eta}{2\tau^\tau\lambda^\lambda} \right].
\end{aligned} \tag{3.14}$$

On setting $p = k = \eta = \tau = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.9 *Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\Re(\lambda) > 0$, $\Re(\nu) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^{\gamma,\delta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(\delta)\Gamma(2\xi)}{\Gamma(\gamma)} {}_4\Psi_4 \left[\begin{matrix} (\gamma, 1), & (\zeta-\xi, 1), & (1+\zeta, 1), & (1, 1); \\ (\nu, \lambda), & (\delta, 1), & (1+\zeta+\xi, 1), & (\zeta, 1); \end{matrix} \quad \frac{z}{a} \right].
\end{aligned} \tag{3.15}$$

Corollary 3.10 *Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\Re(\lambda) > 0$, $\Re(\nu) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^{\gamma,\delta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(\delta)\Gamma(\zeta-\xi)}{\Gamma(\gamma)} {}_4\Psi_4 \left[\begin{matrix} (\gamma, 1), & (2\xi, 2), & (1+\zeta, 1), & (1, 1); \\ (\nu, \lambda), & (\delta, 1), & (1+\zeta+\xi, 2), & (\zeta, 1); \end{matrix} \quad \frac{z}{2} \right].
\end{aligned} \tag{3.16}$$

Corollary 3.11 *Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\Re(\lambda) > 0$, $\Re(\nu) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^{\gamma,\delta} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} {}_4F_{\lambda+3} \left[\begin{matrix} \gamma, & \zeta-\xi, & 1+\zeta, & 1; \\ \Delta(\lambda;\nu), & \delta, & 1+\zeta+\xi, & \zeta; \end{matrix} \quad \frac{z}{a\lambda^\lambda} \right].
\end{aligned} \tag{3.17}$$

Corollary 3.12 *Let $x > 0; \lambda, \nu, \gamma, \delta \in \mathbb{C}$, $\Re(\lambda) > 0$, $\Re(\nu) > 0$, $\Re(\gamma) > 0$, $\Re(\delta) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^{\gamma,\delta} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)} {}_5F_{\lambda+4} \left[\begin{matrix} \gamma, & 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; \\ \Delta(\lambda;\nu), & \delta, & \zeta, & \frac{1+\zeta+\xi}{2}, & \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{z}{2\lambda^\lambda} \right].
\end{aligned} \tag{3.18}$$

On setting $p = k = \eta = \tau = \delta = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.13 *Let $x > 0; \lambda, \nu, \gamma \in \mathbb{C}$, $\Re(\lambda) > 0$, $\Re(\nu) > 0$, $\Re(\gamma) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned}
& \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^{\gamma} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\
&= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)}{\Gamma(\gamma)} {}_3\Psi_3 \left[\begin{matrix} (\gamma, 1), & (\zeta-\xi, 1), & (1+\zeta, 1); \\ (\nu, \lambda), & (1+\zeta+\xi, 1), & (\zeta, 1); \end{matrix} \quad \frac{z}{a} \right].
\end{aligned} \tag{3.19}$$

Corollary 3.14 *Let $x > 0; \lambda, \nu, \gamma \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^\gamma \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(\zeta-\xi)}{\Gamma(\gamma)} {}_3\Psi_3 \left[\begin{matrix} (\gamma, 1), (2\xi, 2), (1+\zeta, 1); \\ (\nu, \lambda), (1+\zeta+\xi, 2), (\zeta, 1); \end{matrix} \quad \frac{z}{2} \right]. \end{aligned} \quad (3.20)$$

Corollary 3.15 *Let $x > 0; \lambda, \nu, \gamma \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^\gamma \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} {}_3F_{\lambda+2} \left[\begin{matrix} \gamma, \quad \zeta-\xi, \quad 1+\zeta; \\ \Delta(\lambda; \nu), 1+\zeta+\xi, \zeta; \end{matrix} \quad \frac{z}{a\lambda^\lambda} \right]. \end{aligned} \quad (3.21)$$

Corollary 3.16 *Let $x > 0; \lambda, \nu, \gamma \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0, \Re(\gamma) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu}^\gamma \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)} {}_4F_{\lambda+3} \left[\begin{matrix} \gamma, \quad 1+\zeta, \quad \xi, \quad \xi+\frac{1}{2}; \\ \Delta(\lambda; \nu), \zeta, \frac{1+\zeta+\xi}{2}, \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{z}{2\lambda^\lambda} \right]. \end{aligned} \quad (3.22)$$

On setting $p = k = \eta = \tau = \gamma = \delta = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.17 *Let $x > 0; \lambda, \nu \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \Gamma(2\xi) {}_3\Psi_3 \left[\begin{matrix} (\zeta-\xi, 1), (1+\zeta, 1), (1, 1); \\ (\nu, \lambda), (1+\zeta+\xi, 1), (\zeta, 1); \end{matrix} \quad \frac{z}{a} \right]. \end{aligned} \quad (3.23)$$

Corollary 3.18 *Let $x > 0; \lambda, \nu \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \Gamma(\zeta-\xi) {}_3\Psi_3 \left[\begin{matrix} (2\xi, 2), (1+\zeta, 1), (1, 1); \\ (\nu, \lambda), (1+\zeta+\xi, 2), (\zeta, 1); \end{matrix} \quad \frac{z}{2} \right]. \end{aligned} \quad (3.24)$$

Corollary 3.19 *Let $x > 0; \lambda, \nu \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu} \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)\Gamma(\zeta)} {}_3F_{\lambda+2} \left[\begin{matrix} \zeta-\xi, \quad 1+\zeta, \quad 1; \\ \Delta(\lambda; \nu), 1+\zeta+\xi, \zeta; \end{matrix} \quad \frac{z}{a\lambda^\lambda} \right]. \end{aligned} \quad (3.25)$$

Corollary 3.20 *Let $x > 0; \lambda, \nu \in \mathbb{C}, \Re(\lambda) > 0, \Re(\nu) > 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_{\lambda,\nu} \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(\nu)\Gamma(1+\zeta+\xi)} {}_4F_{\lambda+3} \left[\begin{matrix} 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; \\ \Delta(\lambda;\nu), & \zeta, & \frac{1+\zeta+\xi}{2}, & \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{z}{2\lambda^\lambda} \right]. \end{aligned} \quad (3.26)$$

On setting $p = k = \eta = \tau = \gamma = \delta = \nu = 1$, results presented in Theorem 3.1–Theorem 3.4 reduce to the following form.

Corollary 3.21 *Let $x > 0; \lambda \in \mathbb{C}, \Re(\lambda) \geq 0$ then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_\lambda \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \Gamma(2\xi)_3 \Psi_3 \left[\begin{matrix} (\zeta-\xi, 1), & (1+\zeta, 1), & (1, 1); \\ (1, \lambda), & (1+\zeta+\xi, 1), & (\zeta, 1); \end{matrix} \quad \frac{z}{a} \right]. \end{aligned} \quad (3.27)$$

Corollary 3.22 *Let $x > 0; \lambda \in \mathbb{C}, \Re(\lambda) \geq 0$, then for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_\lambda \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \Gamma(\zeta-\xi)_3 \Psi_3 \left[\begin{matrix} (2\xi, 2), & (1+\zeta, 1), & (1, 1); \\ (1, \lambda), & (1+\zeta+\xi, 2), & (\zeta, 1); \end{matrix} \quad \frac{z}{2} \right]. \end{aligned} \quad (3.28)$$

Corollary 3.23 *Let $x > 0; \lambda \in \mathbb{C}, \Re(\lambda) \geq 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_\lambda \left(\frac{z}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \frac{\Gamma(2\xi)\Gamma(1+\xi)\Gamma(\zeta-\xi)}{\Gamma(1+\zeta+\xi)\Gamma(\zeta)} {}_3F_{\lambda+2} \left[\begin{matrix} \zeta-\xi, & 1+\zeta, & 1; \\ \Delta(\lambda; 1), & 1+\zeta+\xi, & \zeta; \end{matrix} \quad \frac{z}{a\lambda^\lambda} \right]. \end{aligned} \quad (3.29)$$

Corollary 3.24 *Let $x > 0; \lambda \in \mathbb{C}, \Re(\lambda) \geq 0$, then, for $0 < \Re(\xi) < \Re(\zeta)$, the following formula holds true:*

$$\begin{aligned} & \int_0^\infty x^{\xi-1} (x+a+\sqrt{x^2+2ax})^{-\zeta} E_\lambda \left(\frac{xz}{x+a+\sqrt{x^2+2ax}} \right) dx \\ &= 2^{1-\xi} a^{\xi-\zeta} \zeta \frac{\Gamma(2\xi)\Gamma(\zeta-\xi)}{\Gamma(1+\zeta+\xi)} {}_4F_{\lambda+3} \left[\begin{matrix} 1+\zeta, & \xi, & \xi+\frac{1}{2}, & 1; \\ \Delta(\lambda; 1), & \zeta, & \frac{1+\zeta+\xi}{2}, & \frac{2+\zeta+\xi}{2}; \end{matrix} \quad \frac{z}{2\lambda^\lambda} \right]. \end{aligned} \quad (3.30)$$

4. Conclusion

In this paper, certain integral formulae involving a new generalization of Mittag-Leffler function ${}_pE_{k,\lambda,\nu,\tau}^{\gamma,\delta,\eta}(z)$ were established, which are expressed in terms of generalized Wright function and hypergeometric function. Further some interesting special cases of our main findings are also developed. All the findings and their special cases are new and general in nature.

Competing interests

The author declares to have no competing interests.

Authors Contributions

All authors contribute equally in the present investigation.

References

1. P. Agarwal, *Pathway fractional integral formulas involving Bessel function of the first kind*, Advanced Studies in Contemporary Mathematics, 25(1), 221–231, (2015)
2. P. Agarwal and M. Chand and S. Jain, *Certain integrals involving generalized Mittag-Leffler functions*, Proc. Natl. Acad. Sci., Sect. A: Physical Sciences, 85(3), 359–371, (2015)
3. J. Choi and P. Agarwal, *Certain unified integrals associated with Bessel functions*, Boundary Value Problems, 95(1), (2013)
4. J. Choi and P. Agarwal, *Certain unified integrals involving a product of Bessel functions of the first kind*, Honam Mathematical Journal, 35, , 667–677, (2013)
5. J. Choi and P. Agarwal, *A note on fractional integral operator associated with multiindex Mittag-Leffler functions*, Filomat, 30(7), 1931–1939, (2016)
6. J. Choi and P. Agarwal and S. Mathur and S.D. Purohit, *Certain new integral formulas involving the generalized Bessel functions*, Bull. Korean Math. Soc., 51(4), 995–1003, (2014)
7. R. Diaz and E. Pariguan, *On hypergeometric functions and k -Pochhammer symbo*, Divulgaciones Mathematicas, 15(2), 179–192, (2007)
8. C. Fox, *The asymptotic expansion of generalized hypergeometric functions*, Proc. London. Math. Soc., 27(2), 389–400, (1928)
9. K. S. Gehlot, *Two parameter gamma function and its properties*, "arXiv:1701.01052v1 [math.CA] 3 Jan 2017",
10. A. Gupta and C. L. Parihar, *On solutions of generalized kinetic equations of fractional order*, Bol. Soc. Paran. Mat., 32(1), 181–189, (2014)
11. N.U. Khan and T. Kashmin, *Some integrals for the generalized Bessel-Maitland function*, Electronic Journal of Mathematical Analysis and Applications, 4(2), 139–149, (2016)
12. W.A. Khan and K. S. Nisar, *An integral formula of the Mellin transform type involving the extended Wright-Bessel function*, Far East Journal of Mathematical Sciences (FJMS), 102(11), 2903–2912, (2017)
13. A.A Kilbas and M. Saigo and R.K Saxena, *Generalized Mittag-Leffler function and generalized fractional calculus operators*, Inte. Trans. Spec. funct., 15, 31–49, (2004)
14. Kilbas, A. A. and Srivastava, H. M. and Trujillo, J. J., *Theory and Applications of Fractional Differential Equations*, North-Holland Mathematics Studies 204, Elsevier (North-Holland) Science Publishers, Amsterdam, London and New York, (2006)
15. Marichev, O. I., *Handbook of Integral Transforms and Higher Transcendental Functions*, Ellis, Horwood, Chichester (JohnWiley and Sons); New York, (1983)
16. Mathai, A.M. and Saxena, R.K. and Haubold, H.J., *The H-Functions: Theory and Applications*, Springer: New York, NY, USA, (2010)
17. G. M. Mittag-Leffler, *Sur la nouvelle fonction $E_\alpha(x)$* , C.R. Acad. Sci. Paris, 137, 554–558, (1903)
18. Oberhettinger, F. , *Tables of Mellin Transforms*, Springer, New York, (1974)
19. T. R. Prabhakar, *A Singular integral equation with a generalized Mittag-Leffler function in the kernel*, Yokohama Math. J., 19, 7–15, (1971)
20. Rainville, E. D., *Special Functions*, The Macmillan Company, New York, (1960)
21. T. O. Salim, *Some properties relating to generalized Mittag-Leffler function*, Adv. Appl. Math. Anal, 4(1), 21–30, (2009)
22. T. O. Salim and A. W. Faraj, *A generalization of Mittag-Leffler function and Integral operator associated with Fractional calculus*, Journal of Fractional Calculus and Applications, 3(5), 1–13, (2012)
23. Samko, S. G. and Kilbas, A. A. and Marichev, O. I., *Fractional Integrals and Derivatives: Theory and Applications*, (1993)
24. A. K. Shukla and J. C. Prajapati, *On a generalized Mittag-Leffler function and its properties*, J. Math. Anal. Appl., 336, 797–811, (2007)
25. H. M. Srivastava and J. Choi, *Zeta and q -Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, Amsterdam, London and New York., (2012)
26. Srivastava, H. M. and Karlsson, P. W. *Multiple Gaussian Hypergeometric Series*, Halsted Press, (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, Chichester, Brisbane and Toronto, (1985)
27. H.M. Srivastava and Ž. Tomovski, *Fractional calculus with an integral operator containing generalized Mittag-Leffler function in the kernel*, Appl. Math. Comput., 211(1), 198–210, (2009)
28. D. L. Suthar, H. Amsalu and K. Godifey, *Certain integral involving multivariate Mittag-Leffler function*, Journal of Inequalities and Applications, 208, (2019)

- 29. A. Wiman, Über den Fundamentalsatz in der Theorie der Functionen, $E_\alpha(x)$, Acta Math., 29, 191-201, (1905)
- 30. E. M. Wright, *The asymptotic expansion of the generalized hypergeometric function*, J. London Math. Soc., 10, 286-293, (1935)
- 31. E. M. Wright, *The asymptotic expansion of integral functions defined by Taylor series*, Philos. Trans. Roy. Soc. London A, 238, 423-451, (1940)
- 32. E. M. Wright, *The asymptotic expansion of the generalized hypergeometric function II*, Proc. London Math. Soc., 46(2), 389-408, (1940)

Gurmej Singh,
Department of Mathematics,
Mata Sahib Kaur Girls College,
Talwandi Sabo, Bathinda, Punjab, India.
E-mail address: gurmejsandhu11@gmail.com

and

Mehar Chand,
Department of Physical and Mathematical Sciences,
Baba Farid College, Bathinda, Punjab, India.
E-mail address: mehar.jallandhra@gmail.com